Quiz Review Lessons 2.2,2.4 & 2.7
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Find the slope of each line. ‘
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Write in standard form an equation of the line with the given slope through the
given point.
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Write in standard form the equation of the line through the pair of points.
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Graph each equation.

8. 8x-4y=16 9.




Find the slope and the intercepts of each line.

10. 3x-4y=12 11. f(x=
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Write an equation for each line. Then graph the line.

12. through (-1, 3) and parallel to y=2x+ 1
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13. through (2, 2) and perpendicular to y= —§x+ 2

m=2 U-% = %Lx-&)

Write the equation in standard form.
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Write an equation for each line.

1. y-intercept of -5, x-intercept of 3.5
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2. through (2, 2), x-intercept of 10
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For each situation, find a linear model and use it to make a prediction.

3. After 5 months the number of subscribers to a newspaper was 5730. After 7
months the number of subscribers to the newspaper was 6022, How many
subscribers to the newspaper will there be after 10 months?
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4. Atabasketball game, student tickets are sold for $4.50 each.
a. Write an equation that models the income y from the sale of xstudent

tickets. X=Shidants Uzincyme =4SDo X
b. How many student tickets must be sold to have $1125 in student ticket
sales?
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Graph each inequality on a coordinate plane.

5. y<x et Buy<2

9. y>3x-4 10. 4x—2y<4 —ay e -4 d
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